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Introduction



Unit 1: British Period Study and Enquiry


Unit 1 involves the study of a period of British history. At both A and AS-level there are two sections to the examination. Section A is the Enquiry section and Section B is the Essay section. In the Enquiry section there will be four primary written sources and one question for the A-level examination, and three primary written sources and two questions for the AS-level. Section B will consist of two essays, of which you will have to answer one. The type of essay set for both AS and A-level are similar, but the AS mark scheme does not have a level 6 (see page 7).


The Early Tudors: 1485–1558


The specification lists the content of the Period Study element, which is England 1485–1547, under four Key Topics:





•  Key Topic 1 – The government of Henry VII and threats to his rule.



•  Key Topic 2 – Henry VII’s foreign policy.



•  Key Topic 3 – Henry VIII and Wolsey.



•  Key Topic 4 – The reign of Henry VIII after 1529.





The specification lists the content of the Enquiry element, which is the Mid Tudor Crises 1547–58, under three Key Topics:





•  Key Topic 1 – The stability of the monarchy, 1547–58.



•  Key Topic 2 – Religious changes, 1547–58.



•  Key Topic 3 – Rebellion and unrest, 1547–58.





Although each period of study is set out in chronological sections in the specification, an exam question may arise from one or more of these sections.


AS-level


The AS-level examination which you may be taking includes all the content.


You are required to answer the following:





•  Section A: two questions. They are source-based questions and will require you to use your knowledge to explain, analyse and evaluate three primary sources. The first question will require you to consider the utility of one of the sources for a particular issue and is worth 10 marks. The second question will require you to explain, analyse and evaluate the three sources in relation to an issue and is worth 20 marks. The section is worth 30 marks.



•  Section B: one essay question from a choice of two. The essays require you to explain, analyse and assess an issue, using your knowledge to reach a balanced judgement about the question. The question is worth 20 marks.





The exam lasts one and a half hours, and you are advised to spend slightly more time on Section A.


At AS-level, Unit 1 will be worth a total of 50 marks and 50 per cent of the AS-level.


A-level


The A-level examination at the end of the course includes all the content.


You are required to answer the ONE question from Section A and ONE essay from Section B from a choice of TWO questions:





•  Section A is the Enquiry question and will contain four written primary sources. You will be asked to use the four sources to test a hypothesis by considering the provenance and content of the sources and applying your own knowledge to the sources to reach a judgement about the sources in relation to the issue in the question. This is the same as the AS-level Question 2 but uses four sources instead of three.



•  The essay questions are similar in style and requirement to the AS-level essay question, except to reach the highest level you will need to show a more developed sense of judgement.





The exam lasts for one and a half hours. You should spend slightly longer on Section A than B.


At A-level, Unit 1 will be worth a total of 50 marks and 25 per cent of the A-level.



AS-level



In both the AS and A-level examinations you are being tested on:





•  your ability to use relevant historical information



•  the skill of analysing factors and reaching a judgement.





In the AS-level examination you are also being tested on your ability to analyse and evaluate the different ways in which aspects of the past have been interpreted.


How to use this book


This book has been designed to help you develop the knowledge and skills necessary to succeed in the examination. The book is divided into seven sections – one for each section of the AS and A-level specifications. Each section is made up of a series of topics organised into double-page spreads.





•  On the left-hand page you will find a summary of the key content you will need to learn.



•  On the right-hand page you will find exam-focused activities.





Together these two strands of the book will provide you with the knowledge and skills essential for examination success. Words in bold in the main content are defined in the glossary (see pages 99–100).
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Examination activities


There are three levels of exam-focused activities:





•  Band 1 activities are designed to develop the foundation skills needed to pass the exam. These have a green heading and this symbol: [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you to achieve a C grade. These have an orange heading and this symbol: [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol: [image: ]






Some of the activities have answers or suggested answers on pages 106–112. These have the following symbol to indicate this. [image: ]


Each section ends with exam-style questions and sample answers with commentary. This will give you guidance on what is expected to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood a topic



•  completed the activities.








Mark schemes



For some of the activities in the book it will be useful to refer to the mark schemes for this paper. Below are abbreviated forms.


AS-level






	Level

	Question 1 Utility

	Question 2 All three sources

	Question 3 or 4 Essay






	5

	Good focus, evaluation using provenance and context to engage with the issue to reach an analysis of its utility.

9–10




	Good focus, sources are evaluated using provenance and context, although there may be some imbalance, to reach an analysis of the issue.

17–20




	Mostly focused, supported answer with good analysis and evaluation to reach a supported judgement.

17–20









	4

	Mostly focused, evaluated using provenance and context, with some imbalance to engage with the issue to reach an analysis of its utility.

7–8




	Mostly focused, sources are evaluated using some provenance and context to reach an analysis of the issue.

13–16




	Some focus with support, analysis with limited evaluation and judgement.

13–16









	3

	Partial focus and evaluation of either context or provenance to produce a partial analysis of its utility.

5–6




	Partial focus and evaluation, some context to produce a partial analysis of the issue.

9–12




	Partial focus on the question, with some knowledge and analysis, but little or no judgement.

9–12









	2

	Limited focus, general or stock evaluation to produce a limited analysis of the issue.

3–4




	Limited focus, evaluation is general as is context. General analysis of the issue.

5–8




	Focus is descriptive and may be more on the topic than the question. Any analysis may be implied.

5–8









	1

	Answer is on the topic, basic evaluation and general knowledge. Simple or general analysis of the issue.

1–2




	Answer is on the topic, basic evaluation, much description of the sources and general contextual knowledge leading to a simple analysis of the issue.

1–4




	Focus on the topic and attempts at analysis will be little more than assertion.

1–4










A-level






	Level

	Source question

	Essay






	6

	Well focused, sources are fully evaluated using provenance and context to reach a fully supported analysis of the issue.

26–30




	Well focused, supported answer with very good analysis and developed evaluation to reach a supported and sustained judgement.

17–20









	5

	Good focus, sources are evaluated using provenance and context, although there may be some imbalance, to reach an analysis of the issue.

21–25




	Mostly focused, supported answer with good analysis and evaluation to reach a supported judgement.

13–16









	4

	Mostly focused, sources are evaluated using some provenance and context to reach an analysis of the issue.

16–20




	Some focus with support, analysis with limited evaluation and judgement.

10–12









	3

	Partial focus and evaluation, some context to produce a partial analysis of the issue.

11–15




	Partial focus on the question, with some knowledge and analysis, but little or no judgement.

7–9









	2

	Limited focus, evaluation is general as is context. General analysis of the issue.

6–10




	Focus is descriptive and may be more on the topic than the question. Any analysis may be implied.

4–6









	1

	Answer is on the topic, basic evaluation, much description of the sources and general contextual knowledge leading to a simple analysis of the issue.

1–5




	Focus on the topic and attempts at analysis will be little more than assertion.

1–3













1 The government of Henry VII and threats to his rule



Henry’s claim


Henry Tudor defeated the Yorkist King, Richard III, at the Battle of Bosworth in August 1485. He would go on to rule England as King Henry VII until his death in 1509 and pass the throne on securely to his son, who became Henry VIII.


Although Henry was the male Lancastrian claimant to the throne, his claim was poor and was likely to be challenged by Yorkist claimants (see page 10) who had seen their King killed at Bosworth.


Henry’s claim to the throne was very weak, being largely through his mother, Margaret Beaufort, who was a descendant of Edward III by the marriage of his third son, John of Gaunt, to Catherine Swynford. However, the children had been born when Catherine was John’s mistress and were legitimised later by parliament.


Henry did have some royal blood as his father’s mother was a French princess who had been married to Henry V before marrying Owen Tudor, Henry’s grandfather.


This weak claim meant that Henry held the throne because he had defeated Richard and not because he was the legitimate ruler.


Henry’s weak position


Henry was also in a weak position. He had spent fourteen years in exile after the Lancastrians were defeated at Tewkesbury in 1471. This meant that he was largely unknown and therefore many might assume that it would be foolhardy to support him as his reign was unlikely to last.


Strength of Henry’s position


Despite Henry’s weak claim, there were strengths to his position:





•  Richard III had been unpopular, particularly as it was rumoured that he had killed the ‘Princes in the Tower’ – the children of Edward IV – in order to take the throne.



•  The country was weary of war after the Wars of the Roses and therefore might support Henry if he could offer peace and stability.



•  Richard III was dead, as were many Yorkists with a better claim, as was shown by the use of ‘Pretenders’ (see page 10).



•  Henry had not depended upon another noble family to help him take the throne.





The importance of Bosworth


Although Henry’s position was strengthened because the previous King, Richard III, had been killed, it did not give him the support of the country. Many nobles remained neutral during the battle, as they disliked Richard III, but it did not necessarily mean that they would support Henry.


Henry was aware of his weak position and took a series of actions to help strengthen it:





•  He dated the start of his reign from the day before Bosworth so that those who had fought against him were traitors. This meant they could have their land seized, which would increase Henry’s wealth.



•  His coronation was on 30 October, before parliament met, so that it could not be claimed he was King only because of them.



•  He asked for papal dispensation to marry Elizabeth of York, a distant cousin, to unite the houses of Lancaster and York.



•  The marriage took place after he was crowned so it could not be claimed he owed the throne to his wife.



•  Henry was willing to give Yorkists who had supported Richard at Bosworth a second chance, with the Duke of Northumberland restored to his old position to control the north. This encouraged other Yorkists to support Henry.
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Below are a sample exam question and a concluding paragraph written in answer to this question. Annotate the paragraph to develop the argument as to which factor was the most significant.




Assess the reasons why Henry VII’s position as King of England was so weak.
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There were many reasons why Henry VII’s position on the throne of England was so fragile, but the main reason was his weak claim to the English throne, which could be challenged by Yorkist claimants, even though their King had been killed at Bosworth. Though there were other reasons, these were less important. Henry had been in exile for fourteen years and this meant that he was largely unknown. Many might assume that it would therefore be foolhardy to support him as it was likely that his reign would be short-lived. Although Richard had been killed at Bosworth, it did not mean that the country supported Henry, similarly although many nobles remained neutral during the battle it did not mean they would throw their power behind the new King. Richard may have murdered the ‘Princes in the Tower’, but there were other Yorkists who could challenge Henry – just because he had won at Bosworth did not mean that the ‘Wars of the Roses’ were over.
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[image: ] Turning assertion into argument      [image: ]


Below are a sample exam question and a series of assertions. Read the question and then add a justification to each of the assertions to turn it into an argument.




To what extent was Henry VII able to strengthen his position as King of England in the period to the end of 1486?





Henry’s marriage was important in strengthening his position on the throne:


___________________________


___________________________


People were tired of the instability caused by the Wars of the Roses:


___________________________


___________________________


The death of Richard at Bosworth strengthened Henry’s position:


___________________________


___________________________


The Yorkists were weak:


___________________________


___________________________


Henry’s skills allowed him to strengthen his position:


___________________________


___________________________
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Yorkist opposition



Although the Wars of the Roses had killed many Yorkists with a claim to the throne, there were still two of Richard’s nephews, Edward, Earl of Warwick, and John de la Pole, Earl of Lincoln, who had strong claims. Warwick was soon removed as a threat by being sent to the Tower of London and Lincoln professed loyalty and was invited to join the King’s Council. However, there were still others who were willing to challenge Henry’s position. The Yorkists also found that they had support from overseas, particularly from Margaret of Burgundy, who was the sister of Edward IV and Richard III.


Lovell and Stafford


Within a year of taking the throne Henry faced unrest. Lord Lovell and the Stafford brothers (Humphrey and Thomas) had been loyal supporters of Richard and attempted to raise a rebellion in the Midlands and north in the spring of 1486, but it failed because Henry had spies who brought it to his knowledge. Lovell fled to Flanders and the Staffords sought sanctuary. Humphrey was executed, but Thomas was pardoned. Henry’s progress to the north also helped to win him loyalty.


The threat of the Pretenders


The lack of Yorkist claimants should have increased Henry’s security, but instead they found suitable candidates who could impersonate one of the Princes in the Tower and this led to Simnel’s rising in 1487 and Warbeck’s from 1491–99.


Simnel’s rising


Lambert Simnel claimed to be one of Richard III’s nephews, the Earl of Warwick, and his rising was a major threat as it came within a year of Henry taking the throne and forced the King into battle, which could easily have had a similar result to Bosworth. The rising had begun in the autumn of 1486, but Henry was not aware of it until 1487. Simnel was crowned Edward VI in Ireland, and received support from Margaret of Burgundy and the Earl of Lincoln. However, when the rebels landed in Lancashire they failed to attract support and this was not helped by the presence of Irish, who were seen as brutal, among the force. Henry paraded the real Earl of Warwick and raised an army which confronted Simnel at Stoke near Newark. Although some of his men held back, Henry was successful.


Perkin Warbeck


Perkin Warbeck claimed to be Richard, Duke of York, one of the Princes murdered in the Tower, and therefore Henry could not parade the real Prince. The origins of the conspiracy are unclear and although the rising was not a direct threat, it lasted a long time and had international support from France and Burgundy. Warbeck first appeared in Ireland, but gained little support. He was welcomed at the French court but when Henry signed the Treaty of Étaples (see page 22) he moved to Flanders. Although he also had the support of the Holy Roman Emperor, he was more concerned about Italy and Henry was able to act. Warbeck landed at Deal in 1495 and was driven away by the militia. He went to Ireland and failed to win support, but was welcomed in Scotland and married James IV’s cousin. He invaded from the north, but again got little support and on returning to Scotland was abandoned by the King. He attempted another invasion of England in the west to coincide with the Cornish rising (see page 14), but this failed and he gave himself up in 1497. He remained at court, but further plotting resulted in his execution in 1499.


The latter years and security


The final Yorkist challenge came from Edmund de la Pole, but in 1506 Philip of Burgundy was persuaded to hand him over. Therefore, although it had taken much of his reign, it can be argued Henry was finally secure. However, the death of his wife and eldest son, Arthur, did weaken his position and meant the Tudor dynasty’s survival depended upon Henry’s other son surviving.
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[image: ] Spot the mistake      [image: ]


Below are a sample exam question and the first paragraph of an answer. Why is this not likely to lead to a high mark? Once you have identified why, rewrite the paragraph.




How serious a threat to Henry VII was the Yorkist challenge?
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The Yorkist threat to Henry was serious at the start of his reign for many reasons. The new King’s position was weak and there were a number of Yorkists with a claim who were able to appeal to the people and take advantage of Henry’s position. They were able to raise support from outside England as well as within the country. There were also Pretenders who were able to raise support and challenge Henry because his position was weak, although he was easily able to defeat them, suggesting they were less of a threat. All these reasons help to explain why the Yorkist threat was, at least at the start of Henry’s reign, serious.
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[image: ] Simple essay style


Below is a sample essay question. Use your own knowledge, information on the opposite page and information from other sections of the book to produce a plan for the question. Choose four general points, and provide three specific pieces of information to support each general point. Once you have planned your essay, write the introduction and conclusion for the essay. The introduction should list the points to be discussed in the essay. The conclusion should summarise the key points and justify your argument.




Assess the reasons why the Yorkists failed to defeat Henry VII.





Introduction:


___________________________


___________________________


___________________________


Point 1:


___________________________


___________________________


Point 2:


___________________________


___________________________


Point 3


___________________________


___________________________


Point 4:


___________________________


Conclusion:


___________________________


___________________________


___________________________


___________________________
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Relations with the nobility



The nobility were seen as a problem as they had caused, at least in part, the Wars of the Roses in 1450s and 1460s. There was also nothing stopping another powerful noble overthrowing Henry. Given both their power and wealth it was vital that Henry controlled them, although historians disagree as to how great a threat they were. The nobility were vital to Henry as:





•  he needed their help and advice to rule



•  he needed them to enforce royal will in the localities



•  they were required to fill key offices.





Control of the nobility


Henry used two methods to control the nobility: the ‘carrot’ and the ‘stick’, or inducements and sanctions.


Inducements





•  Henry gave many who fought against him at Bosworth a second chance.



•  He established the Order of the Garter, which was seen as prestigious.



•  He gave patronage in return for loyal service, not in the hope of loyal service – nobles had to prove they were loyal.



•  He issued summons to the King’s Council, which was a sign of trust.





Sanctions





•  Acts of Attainder damaged families as they lost the right to possess land, thus bringing social and economic disaster on a family. They could be reversed as a result of good behaviour.



•  The use of bonds and recognisances; these were written agreements whereby nobles who had offended the King paid him money or paid money as security for future behaviour. This discouraged potentially disloyal nobles.



•  Limits were placed on noble retainers; they needed a licence to keep retainers and this was followed by a heavy fine if not kept. Lord Burgavenny was fined over £70,000.



•  Henry asserted his feudal rights over marriage, profiting from the arranged marriage of heirs and by exploiting the estates of wards.



•  Henry also took back former royal land, seen with the Act of Resumption in 1486. This made the King wealthier and therefore more powerful than any other noble.





It is difficult to argue that his actions were not successful in controlling the nobility:





•  There was little noble unrest after the defeat of Simnel.



•  The number of over-mighty subjects was reduced.



•  The number of new nobles created was limited and therefore elevation was seen as a great privilege.





However, by the end of Henry’s reign the increase in the number of Acts of Attainder, which reached 51 in the period 1504–09, was causing disquiet. Similarly 36 out of 62 noble families were involved in bonds and recognisances, which according to one historian were ‘a terrifying system of suspended justice’.


It is therefore not surprising that some have argued that civil war might have broken out again had Henry not died in 1509, such was the harshness of the methods he was employing. Therefore, despite having five times more land than Henry VI, his position was still not secure. Having taken the throne by force there was no reason why another noble could not successfully challenge his rule and remove him. Certainly his son’s actions when he came to the throne suggest that there was a need to restore good relations with the nobility if the Crown and Tudor dynasty was to be secure.
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[image: ] Support or challenge?      [image: ]


Below is a sample exam question which asks whether you agree with a specific statement. Using your knowledge and the information opposite, decide whether these statements support or challenge the question and tick the appropriate box.




‘Henry VII’s measures of dealing with the nobility were unnecessarily harsh.’ How far do you agree?









	Statement

	Support

	Challenge






	The use of the Order of the Garter was seen as prestigious

	 

	 






	The number of bonds and recognisances issued during his reign was particularly high

	 

	 






	Those who served him loyally were rewarded with patronage

	 

	 






	Heavy fines were imposed on some nobles, with Lord Burgavenny paying over £70,000

	 

	 






	Henry reclaimed royal land through the Act of Resumption

	 

	 






	The number of Acts of Attainder was causing disquiet

	 

	 






	There were fears that civil war might restart because of his policies

	 

	 






	His son’s actions on taking the throne
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[image: ] Introducing an argument      [image: ]


Below are sample exam question and an introduction. Rewrite the introduction in order to set out an argument that looks at more than one point of view.




How successfully did Henry VII manage the nobility?
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Henry VII was very successful in dealing with the nobility because of the inducements that he used which meant he was able to pass on the crown to his son, Henry VIII. The inducements that Henry used during his reign were successful in winning their support and this was important in maintaining the throne. He gave those who had fought against him at Bosworth a second chance. This encouraged some to abandon their support for the Yorkists as they saw it as their best chance of reward. Henry also rewarded loyal supporters, introducing the Order of the Garter, which was seen as prestigious and encouraged loyalty. He also summoned nobles to meetings of the King’s Council or Great Council, which was seen as a sign of trust and helped to win their loyalty.
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Royal finances



Strong royal finances were important if Henry VII was to secure the throne and they would allow him to raise forces to put down unrest and provide his son with money to secure the throne against challengers. Henry attempted to strengthen royal finances in three ways:





•  reorganisation of financial administration



•  exploiting sources of ordinary revenue



•  increasing income from extraordinary revenue.





Opposition to taxation in Yorkshire and Cornwall


Increasing income created opposition from those who were forced to pay, as the King was expected to ‘live off his own’ and this was seen in two taxation revolts.


Yorkshire tax revolt, 1489


This started because Henry needed to raise money to aid Brittany against France. The northern counties objected as they were usually exempt from tax because of the cost of defending the northern border from the Scots. Henry did not negotiate and the tax collector, the Earl of Northumberland, was murdered. The rising was easily crushed, but no tax was collected as Henry recognised the need to compromise.


The Cornish rising, 1497


This was more serious, but was caused by the same factors. Henry wanted the west to pay towards the invasion from the north by Warbeck (see page 10). The rebels gathered at Bodmin and marched to London before they were crushed at Blackheath by a royal army of 25,000. The rising attracted 15,000 men and although it was not a threat to Henry, the leaders were executed and others fined.


Financial administration


In the Middle Ages monarchs used the Exchequer to administer crown finance, but it was slow. Edward IV had used the chamber system. At first Henry went back to the Exchequer, but by 1487 he realised it was inefficient and went back to the chamber system, which dealt with all income except customs duties. This increased the importance of the Treasurer of the Chamber and Gentlemen of the Bedchamber, but it gave Henry greater control.


Ordinary revenue


This came from crown lands, customs, justice and feudal dues. The amount of income varied each year. The most important source of revenue was the ownership of crown lands and Henry ensured this increased:





•  The 1486 Act of Resumption restored crown lands.



•  Lands were taken from those who were attainted (i.e. the families lost the right to possess land).



•  Income from the duchy of Lancaster increased ten-fold.





Henry skilfully exploited the crown lands to increase his income. However, he was less successful with customs and was unable to match Edward IV’s £70,000 per annum, with customs income dropping to £40,000 because of smuggling and international relations influencing trade. Henry exploited the justice system, using fines rather than imprisonment to raise money. Income from feudal dues rose dramatically as he enforced his rights, increasing from £350 in 1487 to £6000 in 1507.


Extraordinary revenue


The most frequent source was parliamentary taxation, but it was expected it would be raised only at times of emergency, and even then it caused opposition. The amount raised varied and was limited because it was based on out-of-date assessment figures. Henry also asked wealthy subjects for loans and benevolences; the latter were not repaid and therefore could not be used regularly. He also raised money from the Church and levied money through feudal aid to fund occasions such as the knighting of his son, Arthur.


Henry has been accused of being greedy. He ran a lavish court in order to maintain an image of power and prestige. Income had risen to £113,000 per year and the Crown was again solvent by 1509.
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[image: ] Delete as applicable      [image: ]


Below are a sample question and a paragraph written in answer to this question. Read the paragraph and decide which of the possible options (in bold) is most appropriate. Delete the least appropriate options and complete the paragraph by justifying your selection.




‘Henry VII’s financial policy was a great success.’ How far do you agree?
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Henry VII’s financial policy was a great success to a limited/fair/great extent. He was able to increase all/some/most areas of ordinary revenue. He was particularly successful/unsuccessful with customs, which increased/decreased in comparison to the reign of Edward IV. His exploitation of revenue from crown lands was a limited/fair/great success and this was similar to/different from his exploitation of the justice system. However, raising money through extraordinary revenue was more/less successful as he was expected to use it regularly/infrequently/in times of emergencies and using this method was popular/unpopular and it provided a regular/variable/limited income.


___________________________


___________________________
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[image: ] Identify an argument      [image: ]


Below are a series of definitions, a sample exam question and two sample conclusions. One of the conclusions achieves a high level because it contains an argument (an assertion justified with a reason). The other achieves a lower level because it contains only description (a detailed account) and assertion (a statement of fact or an opinion, which is not supported by a reason). Identify which is which.




How serious was the opposition to Henry VII’s financial policies?





CONCLUSION 1
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Though there was some opposition to his financial policies, in the form of taxation rebellions, it did not prevent Henry from leaving the Crown solvent. The Cornish rising did attract large numbers and was able to reach London before it was crushed, but it never seriously threatened Henry’s position and was able to draw on the support of only one noble, Lord Audley. Although the Yorkshire rising did result in the death of the tax collector, the rising never left the region and like the Cornish rising was easily crushed. However, the more serious threat to his financial policy came from the nobles who disliked his exploitation of the system of bonds and recognisances which left many in financial penury and, according to some accounts, was close to bringing England to civil war, suggesting that his financial exploitation of the nobility was a greater threat than his attempts to levy taxation.
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